(e COLORKINETICS

Architectural Mounting Arm
Graze, Graze Compact,
Blast gen4, Burst Architectural,

Vaya series: Linear LP, Linear MP, Flood LP

Installation Instructions

INSTRUCTIONS D’'INSTALLATION
ISTRUZIONI PER L'INSTALLAZIONE

c, Must be installed by a qualified electrician in accordance with all

national and local electrical and construction codes and regulations.

Doit étre installé par un électricien qualifié conformément aux codes et réglementa-

tions électriques nationaux et locaux du batiment.

La instalacion debe realizarla un electricista calificado siguiendo todos los cédigos y
normativas eléctricas y de construccion, tanto nacionales como locales.

Devono essere installati da un elettricista qualificato in conformita con le norme
locali e nazionali vigenti in materia di costruzioni edilizie e installazione di impianti
elettrici.

Moet door een gekwalificeerd elektricien overeenkomstig alle nationale en lokale
elektrische verordeningen worden geinstalleerd.

Muss von einem gepriiften Elektriker in Ubereinstimmung mit allen nationalen und
ortlichen elektrischen Codes und Regelungen installiert werden.

EEIMEHDOEREI— FBRURBICT NTRV BERDOH LB REL T
TN,

WDIFURIEFTA E RN B R SFEDEN RMTE, MFSEBMRIHTRE

PUB-000425-00 (RO3) 30 March 2022

INSTRUCCIONES DE INSTALACION
INSTALLATIE-INSTRUCTIES
INSTALLATIONSANWEISUNGEN 7 >X+—/LF|E

ot e —
TR

Before installing this product, please visit the product page
at www.colorkinetics.com for the latest version of the installation
instructions. Due to continuous improvements and innovations,
installation instructions may change without notice.

Avant de procéder a l'installation de ce produit, veuillez consulter la page Web du
produit a I'adresse www.colorkinetics.com pour obtenir les instructions de montage
les plus récentes. En raison des améliorations et innovations sans cesse entreprises,
les instructions de montage peuvent étre modifiées sans préavis.

Antes de instalar este producto, visite la pagina del producto en
www.colorkinetics.com para consultar la Gltima versién de las instrucciones de
instalacion. Debido a las continuas mejoras e innovaciones, las instrucciones de
instalacién pueden cambiar sin previo aviso.

Prima di installare il prodotto, visitare la pagina relativa all'indirizzo
www.colorkinetics.com per la versione pil recente delle istruzioni d'installazione.
Grazie ai miglioramenti e alle innovazioni continue, le istruzioni sono soggette a
modifiche senza preavviso.

Ga voordat u dit product installeert, eerst naar de productpagina op
www.colorkinetics.com voor de meeste recente versie van de installatie-instructies.
Vanwege voortdurende verbeteringen en innovaties kunnen de installatie-instructies
zonder bericht gewijzigd worden.

Besuchen Sie vor der Installation des Produkts bitte die Produktseite unter
www.colorkinetics.com, um die aktuellen Installationsanweisungen herunterzuladen.
Aufgrund kontinuierlicher Verbesserungen und Innovationen kénnen die Installa-
tionsanweisungen ohne Vorankindigung geandert werden.

T DB % RE S RIS, www.colorkinetics.com DEBR—IICTF I AL T RHFIDRE
FlBzHERL TLIEE WV WE - WREMGENICITTO TV A& BUMIFFIBO FEELE
BENBTENBIET,

LG FERZA, BB TRIIE www. colorkinetics. com LASREREFIARAY L2515 RH .
AFEREBUEMEH, RERPAIESBINE, BABITEM.

www.colorkinetics.com



Refer to luminaire product guide for information on installation planning, including electrical and
data configuration guidelines.

Reportez-vous au guide produit du luminaire pour obtenir plus d'informations sur la planification d'installation et notamment la marche a suivre pour la configuration électrique
et de données.

Consulta la guia de producto de la luminaria para obtener informacién sobre la planificacién de la instalacién, incluidas las directrices de configuracion eléctrica y de datos.
Fare riferimento alla guida dell'apparecchio per informazioni sulla pianificazione dell'installazione, incluse linee guida per la configurazione elettrica e dei dati.

Raadpleeg de productbeschrijving van de armatuur voor informatie over installatieplanning, waaronder richtlijnen voor elektrische en dataconfiguratie.

Informationen zum Einbau, einschlieBlich elektrischer Verkabelung und Datenleitungskonfiguration, entnehmen Sie bitte dem Produkt-Guide der Leuchte.
BABLOT—2REDHA P 2 ZIE Lo RBEFHBIDFHMAIC DL FREAREORRA 1 P B LEL,

ESRTEFRIER, RNEEASMEERERESEEANRENIER.

Confirm all components received
Vérifiez tous les composants livrés

Confirma todos los componentes recibidos

Verificare di aver ricevuto tutti i componenti

Controleer of alle onderdelen zijn geleverd

Empfang aller Komponenten bestatigen

B feIRNTOOAYR—R > MRl E T

HIABKBITA LAY
Long length arm Medium length arm Short length arm
Bras long Bras moyen Bras court
Brazo de longitud larga Brazo de longitud media Brazo de longitud corta
Braccio lungo Braccio medio Braccio corto
Lange arm Middellange arm Korte arm
Langer Ausleger Mittlerer Ausleger Kurzer Ausleger
REEBET— L FREERET — L e — L\
®E REE =k
Graze luminaires Graze Compact luminaires Burst Architectural,
Hardware: Two M5 x 0.8 x 14 mm min. length Hardware: Two M5 x 0.8 x 14 mm min. length Burst Compact Architectural,
Button, socket, or hex screws Button, socket, or hex screws Blast gen4 luminaires
with flat and lock washers with flat and lock washers Hardware: Four M5 x 0.8 x 22 mm min. length
Torque: 30kgf.cm (3 Nm) +/- 10% Torque: 30kgf.cm (3 Nm) +/- 10% Flat head screws

Torque: 30kgf.cm (3 Nm) +/- 10%

Vaya Flood LP luminaires Vaya Linear LP luminaires Vaya Linear MP luminaires

Hardware: Six M5 x 0.8 x 12 mm min. length  Hardware: Two M4 x 0.7 x 12 mm min. length Hardware: Four M4 x 0.7 x 14 mm min. length
Button, socket, or hex screws Button, socket, or hex screws Button, socket, or hex screws
with flat and lock washers with flat and lock washers with flat and lock washers

Torque:  30kgf.cm (3 Nm) +/- 10% Torque: 16kgf.cm (1.6 Nm) +/- 10% Torque: 16kgf.cm (1.6 Nm) +/- 10%

2

Architectural Mounting Arm Installation Instructions




Position wall mounting plate and install 4 fasteners
Positionnez la plague de montage mural et installez 4 fixations
Coloca la placa de montaje en pared e instala las cuatro sujeciones
Posizionare la piastra di montaggio a parete e inserire i 4 dispositivi di fissaggio
Plaats de montageplaat tegen de wand en bevestig met vier schroeven
Positionieren Sie die Wandmontageplatte und 4 Befestigungsschrauben

BEIRIAT 7L —bEBWT 4 DDT 7 AF—ZWMIFITE T, 97.7 mm
BEER R R RN, FRE 4 MEEH (3.851in)

e Fasteners customer supplied
Les fixations ne sont pas fournies

Sujeciones suministradas por el cliente __
DI I . e . A
ispositivi di fissaggio forniti dal cliente

Schroeven niet meegeleverd @ 5 € E
Befestigungsschrauben kundenseitig zu liefern @.@ g %
T7AT—EBERDTHEEN S0

EEH T PR o v

B secure luminaire to mounting arm
Fixez le luminaire au bras de montage
Fija la luminaria al brazo de montaje
Fissare I'apparecchio per illuminazione sul braccio di montaggio
Bevestig de armatuur op de arm
Leuchte sicher am Ausleger befestigen
FRRARR B B — LICEELE S
BITAREBREE L

Mounting Blast luminaire
Montage du luminaire Blast

Montaje de luminaria Blast

Montaggio dell'apparecchio Blast
Mounting Blast-armatuur
Blast-Leuchte montieren

7SR R E DR

2% Blast TR

& Fasteners customer supplied
Les fixations ne sont pas fournies

Sujeciones suministradas por el cliente
Dispositivi di fissaggio forniti dal cliente
Schroeven niet meegeleverd
Befestigungsschrauben kundenseitig zu liefern
T7AT—RBEEHNTHRZEL
REMREFRH

Recommended fasteners:

Four M5 x 0.8 x 22 mm min. length
Flat head

Torque: 30kgf.cm (3 Nm) +/- 10%

& Thread luminaire cable through large center hole on mounting plate
Faites passer le cable du luminaire a travers le gros orifice central sur la plaque de montage
Enrosca el cable de la luminaria a lo largo del orificio central grande en la placa de montaje

Far passare il cavo dell'apparecchio attraverso il grande foro centrale sulla piastra di montaggio
Haal de kabel van de armatuur door het grote gat in het midden van de montageplaat
Leuchten-Zuleitungskabel durch groRes Mittelloch in der Montageplatte fihren

BRI EDT — 7 IV ERG T L — FDPROREEUSELE T

BT RS RERA B KL

Ground wire not used & Position gasket on underside of base
Fil de terre non utilisé Positionnez le joint sous la base
Cable de tierra no utilizado Coloca la junta en la parte inferior de la base
Filo di terra non utilizzato Posizionare la guarnizione sotto la base
Aardedraad niet gebruikt Bevestig de pakking aan de onderkant van de armatuur
Masseleitung nicht verwendet Dichtungsring an der Unterseite positionieren
T—AEOMERENTVEEA BOTCHR Ty EBEET

R B RE T RERE

Architectural Mounting Arm Installation Instruction




Mounting Burst luminaire
Montage du luminaire Burst

Montaje de luminaria Burst

Montaggio dell'apparecchio Burst
Mounting Burst-armatuur

Mounting Burst-armatuur

IN—Z hERBAZR B DER{S

2% Burst {TH

& Fasteners customer supplied
Les fixations ne sont pas fournies

Sujeciones suministradas por el cliente
Dispositivi di fissaggio forniti dal cliente
Schroeven niet meegeleverd
Befestigungsschrauben kundenseitig zu liefern
T7ARF—FEBEHRDTABELEN

EEHHE RS

Recommended fasteners:
Four M5 x 0.8 x 22 mm min. length
Flat head

Torque: 30kgf.cm (3 Nm) +/- 10%

Ground wire not used
Fil de terre non utilisé

Cable de tierra no utilizado

Filo di terra non utilizzato
Aardedraad niet gebruikt

& Thread luminaire cable through large center hole on mounting plate
Faites passer le cable du luminaire a travers le gros orifice central sur la plaque de montage
Enrosca el cable de la luminaria a lo largo del orificio central grande en la placa de montaje

Far passare il cavo dell'apparecchio attraverso il grande foro centrale sulla piastra di montaggio
Haal de kabel van de armatuur door het grote gat in het midden van de montageplaat
Masseleitung nicht verwendet Leuchten-Zuleitungskabel durch groRes Mittelloch in der Montageplatte flihren
T—AEDMERENTWEEA BBEBERE DT — VIV EBT T L — FDFRROARELGUSELE T

FRERML AT RS T REMA P 18 KFL

& Position gasket on underside of base

Positionnez le joint sous la base Coloca la junta en la parte inferior de la base
Posizionare la guarnizione sotto la base

Bevestig de pakking aan de onderkant van de armatuur

Dichtungsring an der Unterseite positionieren
BOTICHRT Y M EBEEY BRAKE FIRERE

Mounting Graze Compact luminaire
Montage du luminaire Graze Compact

Montaje de luminaria Graze Compact

Montaggio dell'apparecchio Graze Compact

Mounting Graze Compact-armatuur

Graze Compact-Leuchte montieren

Graze Compact B2RA28 E DET

%4 Graze Compact ¥JE

Recommended fasteners:

& Fasteners customer supplied Two M5 x 0.8 x 14 mm min. length
Les fixations ne sont pas fournies Button, socket, or hex screws
Sujeciones suministradas por el cliente with flat and lock washers

Dispositivi di fissaggio forniti dal cliente
Schroeven niet meegeleverd
Befestigungsschrauben kundenseitig zu liefern
TPAT— BB THEZEN

RE R PR

Torque: 30kgf.cm (3 Nm) +/- 10%

4

Architectural Mounting Arm Installation Instructions




Mounting Graze luminaire
Montage du luminaire Graze

Montaje de luminaria Graze

Montaggio dell'apparecchio Graze
Mounting Graze-armatuur
Graze-Leuchte montieren

7L —XIRBAgR B DEUY

24 Graze KTH

N S (9‘
N
. SN
N <’

2.5 mm hex

& Fasteners customer supplied
Les fixations ne sont pas fournies

Sujeciones suministradas por el cliente
Dispositivi di fissaggio forniti dal cliente
Schroeven niet meegeleverd
Befestigungsschrauben kundenseitig zu liefern
T7ARF—FEEHRDTABELEN

REHREFREMR

N
N
S
N = <P

4 mm hex, torque 2.7Nm (24 in-lbs)

& Position hinge plates as needed
Positionnez les plaques de charniére tel que requis
Coloca las placas de la bisagra segun corresponda
Posizionare le piastre a cerniera come necessario
Schuif de scharnierplaten op de juiste plaats
Scharnierplatten nach Bedarf positionieren
BEITECTEYY TL— M aBEET

MELE, FHREGHERNGLE

Recommended fasteners:

Two M5 x 0.8 x 14 mm min. length
Button, socket, or hex screws

with flat and lock washers
Torque: 30kgf.cm (3 Nm) +/- 10%

Architectural Mounting Arm Installation Instruction




Mounting Vaya Linear LP luminaire
Montage du luminaire Vaya Linear LP

Montaje de luminaria Vaya Linear LP

Montaggio dell'apparecchio Vaya Linear LP

Mounting Vaya Linear LP-armatuur

Vaya Linear LP-Leuchte montieren

Vaya Linear LP FREAEE E DET

L4 Vaya Linear LP KTE

Recommended fasteners:

Two M4 x 0.7 x 12 mm min. length
Button, socket, or hex screws

with flat and lock washers

Torque: 16kgf.cm (1.6 Nm) +/- 10%

& Fasteners customer supplied
Les fixations ne sont pas fournies

Sujeciones suministradas por el cliente
Dispositivi di fissaggio forniti dal cliente
Schroeven niet meegeleverd
Befestigungsschrauben kundenseitig zu liefern
T7AT—EBERDTHELEN
REHHEPRG

& Position hinge plates as needed
Positionnez les plaques de charniére tel que requis
Coloca las placas de la bisagra segun corresponda
Posizionare le piastre a cerniera come necessario
Schuif de scharnierplaten op de juiste plaats
Scharnierplatten nach Bedarf positionieren
BEIECTEYY TL— M aBEET

MELE, FERERMTE

@ Position hinge plates as needed
Positionnez les plaques de charniére tel que requis
Coloca las placas de la bisagra segun corresponda
Posizionare le piastre a cerniera come necessario
Schuif de scharnierplaten op de juiste plaats
Scharnierplatten nach Bedarf positionieren
BEIGLCTEYY TL— M aBEET

NELE, FERERATE

& Fasteners customer supplied
Les fixations ne sont pas fournies

Sujeciones suministradas por el cliente
Dispositivi di fissaggio forniti dal cliente
Schroeven niet meegeleverd
Befestigungsschrauben kundenseitig zu liefern
T7AF—RREEFRH AR TN

KEHHRE RS

Mounting Vaya Linear MP luminaire
Montage du luminaire Vaya Linear MP

Montaje de luminaria Vaya Linear MP

Montaggio dell'apparecchio Vaya Linear MP

Mounting Vaya Linear MP-armatuur

Vaya Linear MP-Leuchte montieren

Vaya Linear MP B&BA28 E DBt

L4 Vaya Linear WP KTHE

Recommended fasteners:

Four M4 x 0.7 x 14 mm min. length
Button, socket, or hex screws

with flat and lock washers

Torque: 16kgf.cm (1.6 Nm) +/- 10%

2.5 mm hex

6

Architectural Mounting Arm

Installation Instructions



Mounting Vaya Flood LP luminaire

Montage du luminaire Vaya Flood LP
Montaje de luminaria Vaya Flood LP
Montaggio dell'apparecchio Vaya Flood LP
Mounting Vaya Flood LP-armatuur

Vaya Flood LP-Leuchte montieren

Vaya Flood LP B&RA25 2 DEY{T

4 Vaya Flood LP #TH

& Fasteners customer supplied
Les fixations ne sont pas fournies

Sujeciones suministradas por el cliente
Dispositivi di fissaggio forniti dal cliente
Schroeven niet meegeleverd
Befestigungsschrauben kundenseitig zu liefern
T7PAT— I BERDTHBEL
REMHEFRE

Recommended fasteners:

Six M5 x 0.8 x 12 mm min. length
Button, socket, or hex screws
with flat and lock washers
Torque: 30kgf.cm (3 Nm) +/- 10%

(Y [ R

0

—

Use the ruler etched into the top of the telescoping arm to select desired distance to the wall
Utilisez la regle gravée en haut du bras télescopique pour mesurer la distance souhaitée par rapport au mur

Utiliza la regla grabada en la parte superior del brazo telescépico para seleccionar la distancia deseada a la pared

Utilizzare il righello inciso sulla parte superiore del braccio telescopico per selezionare la distanza desiderata dalla parete
Gebruik de liniaal die in de bovenkant van de telescooparm is gegraveerd om de gewenste afstand tot de muur in te stellen
Nutzen Sie die eingepresste Skala auf dem Teleskoparm, um den gewiinschten Wandabstand einzustellen.

BRifE7 — LD LS NTo)V— 5 — &R L T BEDBDN B R ZRIRLE T,

AR MEB TR, BEMBEMNSEZ B ERES

A

=~V

(©] 1{®)) 1(®)) )
= L R e Ll 2

Tighten 3 positioning screws
Serrez 3 vis de position

Aprieta los tres tornillos de posicionamiento
Serrare le 3 viti

Draai de drie bevestigingsschroeven vast

3 Positionierungsschrauben festziehen
3ARDEMNRIERGHET

R 3 DNEMIRET

Torque 2.7Nm (24 in-Ibs)
4 mm hex

Architectural Mounting Arm Installation Instruction 7



Attach safety cable (customer supplied)
Fixez le cable de sécurité (fourni par le client)
Conecte el cable de seguridad (suministrado por el cliente)
Collegare il cavo di sicurezza (fornito dal cliente)
Bevestig veiligheidskabel (klant meegeleverd)
Sicherheitskabel anschlieBen (vom Kunden mitgeliefert)
Res—7IVEEY 5 (BERRM)
EEREEHE (BFREHM

& UL version only

Version UL uniquement Solo version UL

Solo versione UL Alleen UL-versie Nur UL-Version
ULN=T3> D PR UL RIS

= ©
®
®

/@ @

0% o

8 Architectural Mounting Arm Installation Instructions



B Use tie wra ps to dress cable to underside of the mounting arm
Utilisez des attaches autobloquantes pour acheminer le cable jusqu’a la partie inférieure du bras de montage
Utiliza bridas para pasar el cable por la parte inferior del brazo de montaje

Utilizzare delle fascette per fissare il cavo lungo la parte inferiore del braccio di montaggio

Gebruik kabelbinders om de kabel aan de onderkant van de arm te bevestigen

Verwenden Sie Kabelbinder, um das Kabel an der Unterseite des Tragarms zu befestigen

BATY T HFERALTT— IV EBG T — LOTFICEEHFT

fERRETHRYME T REE RS

/

Connectez les luminaires
Conecta las luminarias

Sluit de armaturen aan
Leuchten anschlieBen
HBRRER 2 & HElit
EEITR

Bl Connect luminaires

Collegare gli apparecchi per illuminazione

& Refer to installation instructions shipped with the luminaire to complete wiring procedures

Reportez-vous aux instructions d'installation livrées avec le luminaire pour effectuer les procédures de cablage
Consulta las instrucciones de instalaciéon enviadas con la luminaria para completar los procedimientos de cableado
Fare riferimento alle istruzioni di installazione fornite con I'apparecchio per completare la procedura di cablaggio
Raadpleeg de meegeleverde installatie-instructies om de bekabeling van de armatuur te voltooien

Beachten Sie die mit der Leuchte gelieferten Installationsanweisungen, um die Verkabelungsarbeiten abzuschlieRen
ERFIRZESET 95 BBEREICAREN O REFIRE Z HHiH<fEEW

HSHSTE—RIREORERA, THRAHLLE

Architectural Mounting Arm

Installation Instruction

9



10 Architectural Mounting Arm Installation Instructions



Architectural Mounting Arm Installation Instruction 1



Do not attempt to install or use a luminaire until you read and
understand the installation instructions and safety labels.

Assurez-vous d'avoir lu et compris les instructions d'installation et les autocollants de sécurité
avant d'installer ou d'utiliser un appareil d'éclairage.

No intente instalar o utilizar una lampara sin previamente haber leido y comprendido las
instrucciones de instalacién y las etiquetas de seguridad

Non provare a installare o utilizzare un gruppo di illuminazione se non sono state lette e
comprese le istruzioni per l'installazione e le etichette di sicurezza.

Probeer geen armaturen aan te brengen of te gebruiken voordat u de plaatsingsinstructies en
veiligheidslabels hebt gelezen en begrijpt.

Installieren oder verwenden Sie einen Beleuchtungskérper erst, nachdem Sie die Installation-
sanweisungen und Sicherheitsetiketten gelesen haben.

EBEFIBEREINIVEGHERLTHS, T VAT ¥ DREEIIMEREHRD TEEL,
FEHEBRRZRAIMREREZE, Y7KERESERLT

Do not use a luminaire if the lens, housing, or power cables are
damaged.

N'utilisez pas un appareil d'éclairage si la lentille, le boitier ou les cables d'alimentation sont
endommagés.

No utilice una lampara que presente dafios en el cristal o plastico, estructura o en los cables de
alimentacion eléctrica.

Non utilizzare un gruppo di illuminazione se il gruppo ottico, I'alloggiamento o i cavi di
alimentazione sono danneggiati.

Gebruik een armatuur niet indien de lens, behuizing of voedingkabels zijn beschadigd.

Verwenden Sie den Beleuchtungskérper nicht, wenn das Lampenglas, Gehause oder ein
Netzkabel beschadigt ist.

LYZANTGI VI ETEBRT — T IWHBIELTVBIBEIE. T VA F v & EALEWNTLIEE L,
WMRATRR . RS REZR, AER~R.

Luminaires have line voltage risk of shock and no user serviceable
parts. Do not attempt to open them.

La tension composée des appareils d'éclairage présente un risque de choc électrique et les
piéces ne sont pas réparables par I'utilisateur. Ne tentez pas de les ouvrir.

Al manipular las lAmparas existe riesgo de descarga eléctrica. Las lamparas no contienen
piezas que puedan ser reparadas por el usuario. No intente abrirlas.

I gruppi di illuminazione presentano rischi di scosse elettriche e non contengono componenti
sostituibili dall'utente. Non aprirli.

Bij armaturen is een risico op schokken door lijnspanning aanwezig en armaturen bevatten
geen onderdelen die door de gebruiker kunnen worden onderhouden. Probeer armaturen niet
open te maken.

Die elektrischen Leiter der Beleuchtungskérper kénnen einen Stromschlag verursachen, und
die Beleuchtungskérper enthalten keine vom Benutzer wartbaren Teile. Versuchen Sie nicht,
einen Beleuchtungskorper zu 6ffnen.

T4 AT v TG BREBOBROBLBRNANTEY . I—F—DRFTERRRIEBHYE L Ao 7147
AF v BT ESELGENTLEEL,

KTREFEELRERTHER, BXAPAERERE. 7KETH~R.

Qe COLORKINETICS

© 2022 Signify Holding. All rights reserved. Specifications are subject to
change without notice. No representation or warranty as to the accuracy
or completeness of the information included herein is given and any
liability for any action in reliance thereon is disclaimed.

www.colorkinetics.com



